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7.82 x30% =

9.97 x 30% =

9.9 x50% =

5.48 x 60% =

3.68 X 90% =

6.73 x 40% =

8.68 x 50% =

4.47 x 60% =

4.24 x 90% =

1.78 x 40% =

2.66 x 60% =

3.27 x70% =

3.29 x 90% =

6.87 x 40% =

2.05 x30% =

7.04 x 40% =

3.58 x 80% =

6.28 x 30% =

0.86 x 80% =

7.81 x30% =
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7.82 x 30% = 2.346

9.97 x30% = 2.991

9.9 X 50% = 4.95

5.48 x 60% = 3.288

3.68 x90% = 3.312

6.73 x 40% = 2.692

8.68 X 50% = 4.34

4.47 x 60% = 2.682

4.24 x90% = 3.816

1.78 x 40% = 0.712

2.66 x 60% = 1.596

3.27 x70% = 2.289

3.29 x90% = 2.961

6.87 x 40% = 2.748

2.05 x30% = 0.615

7.04 x40% = 2.816

3.58 x 80% = 2.864

6.28 x 30% = 1.884

0.86 x 80% = 0.688

7.81 x30% = 2.343
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